Mains supply 115V with GFI protection

Standard un-screened power cord

Router's original switch

?_/

(All other cables screened) L Router
Moving parts of table above
Control box below
Toroid Transf. Rectifier Capacitor/s
L1
On/Off Switch | 4
R \ \
} —— z}z Gecko Supply
| \
\ |
N |
N
| 9V Transformer
} Optional for PMDX
L1 N L1
N
Cooling Fan
Higher 1060 000 A |11
under Geckos :
drawingls A First issue | 15-06-07 | A
Description of change Rev.
Material:  CIRCUIT Title

OPTION

MechMate

www.mechmate.com

SINGLE PHASE "HOBBYIST" SUPPLY

Drawing Number

10 70 105

Process | Revision

C A




.

E-Stops on gantry & y-car

==

Dedicated screened cable
for "high-voltage" E-Stop loop

Disconnect switch for bit changes

N

[]

\/

Dedicated 2-core screened
cable for Router

L1 — e
]
N 115V
U L Router
If router has 3rd 16 Amp max
earth/ground wire, it can is typical

be connected to the
Z-slide earth/ground point

Moving parts of table above

Control box below
Isolat On "On" Off
soate Button Lamp Button
Door | = = T S
Front PR \ — Pa ]

§ e QLT N 7 7 I insi

3 g Power Supply inside Control Box

= 1 Amp s

3 T—T -~

Slo Fuse
__é Router 115V
2 0\@ Relay Toroid Transf. Rectifier Capacitor/s
o or SSR
S | ot L1
[Ty T
QLT yprack 1/‘ - L1 /Y‘/ L1 2.6 Amp } |
2N white ‘ N ‘ N (300 VA) \ —_
L‘>) e - e— | - == Gecko Supply
Q
2 Disconnect Switch (25A) Contactor N |
o Interlock with door 25 Amp ; |
3 (padlockable) 120V coil Optional
s Relay g
R
roon or SS :: N 115V
L S ! 9V Transf
- Control box | ‘ ransformer
— | Optional for PMDX
| L1
N

115V Single phase 11 N

Dust Collector — |_

6 Amp max. L1 g 1060000 A |1 —

with 25 Amp contactor . A _ First issue | 15-06-07 | A
115V Coollng Fan Description of change Date (d-m-y) | Rev.
under Geckos Materal_ CIRCUIT Tie 115V SINGLE PHASE SUPPLY
(AMERICA'S)
OPTION MechMate

www.mechmate.com

Drawing Number

Process

10 70 115 C A




E-Stops on gantry & y-car

e e -

Additional E-stops
in series circuit

Dedicated 2-core screened cable
for "high-voltage" E-Stop loop

Disconnect switch for bit changes

[A\LT (—

T
Ml | 4

115V

Dedicated 2-core screened
cable for Router

If router has 3rd
earth/ground wire, it can

]
N
Y £ Router

16 Amp max

be connected to the
Z-slide earth/ground point

Moving parts of table above

is typical

Control box below

Isolate On "On" Off
Button Lamp Button
Door | & e T ﬁzﬁ
Front \ P \ ] ]
L P I
R % = = |
S \ . Power Supply inside Control Box
= 3 \ 1 Amp o]
s = —o E
S 8 | Slo Fuse g
= S \ N Router <
& o \ Relayor SSR @ 115V
s ‘ Toroid Transf. Rectifier Capacitor/s
= | _A‘/_< L1 | ;I—@ N
%)
8 \ \
i L1 | black (g_,\ L1 / L1 L — | ‘
~ ) \
o N | white | - N /’/ N 2.6 Amp ! — z‘i Gecko Supply
2 (300 VA) \ \
L - L2 - L2 | \
5 \
2 Disconnect Switch (16 A) Contactor L2 |
2 Interlock with door 16 Amp Optional 2-pol |
Q (padlockable) 120V coil ptional z-pole
> Contactor or Relay
Q
t SSR/,
% green (not SSR) N | 115V
e - Control box | 9V Transformer
S - Q Optional for PMDX
pS g \
| I L2
% S

230V Single phase 12 N

Dust Collector or |_

VFD for Spindle, etc. Z',’Svhv?n’g/s.- 10 60 000 A 1 Firstissue 1150607 | A

115V Cooling Fan A Description of change Date (d-m-y) | Rev.
Material: N
under Geckos CIRCUIT T 230V / 115V SPLIT-PHASE SUPPLY
(AMERICA'S)
OPTION MechVate

www.mechmate.com

Drawing Number

Process

10 70 130 C

A




.

E-Stops on gantry & y-car

|

Dedicated screened cable
for "high-voltage" E-Stop loop

Disconnect switch for bit changes

N

ML

?_/

\J

Dedicated screened 2-core
cable for router

If router has 3rd

[]
Uw

230V
Router

8 Amp max

earth/ground wire, it can
be connected to the
Z-slide earth/ground point

is typical

Moving parts of table above

Control box below

Isolat On "On" Off
soate Button Lamp Button
Door | T e T I e O B I
Front . | ).a_‘_a.( l J;

S ! Ll N I o
- = ‘ o Power Supply inside Control Box
kS o S
g *g | 1Amp ;
g © | Slo Fuse
Q | Router 230V
g ! Relay ; ™ ;
@ Toroid Transf. Rectifier Capacitor/s
5 \ or SSR
) | — L1
I \ |
5 L1 pown } - L1 L 1.3 Amp ‘ |
< (300 VA)
% L% N } o N } == z}z Gecko Supply
®
S | |
> \
S Disconnect Switch Contactor N \
; Interlock with door 15 Amp Optional
§ (padlockable) Relay g
3 or SSR S N 230V
5 L] green & yellow g | 9V Transformer
I = Control box
s | } Optional for PMDX

| L1
N
230V Single phase L1
Dust Collector l
L e e 10600004 |1
A First issue |15-06-07 | A
230V Cooling Fan Description of change Date (d-m-y) | Rev.
under Geckos Materal CIRCUIT Tile 230V SINGLE PHASE SUPPLY
(non- AMERICA'S)
O P TI O N M @ @ h M @ EFE@ Drawing Number Process | Revision

www.mechmate.com

10 70 230 C

A




Mains supply 380V 3-Phase with earth leakage or RCD protection

e e e
L
N 230V
=lo V Y L Router
| Dedicated 2-core screened If router has 3rd 8 Amp max
cable for Router rth/ground wire, it can 1 i
Dedicated screened cable ‘ZZ cogrrr ‘;‘é el o e is typical
for "high-voltage" E-Stop loop Z-slide earth/ground point
Moving parts of table above
Control box below
Isolat On "On" off
solate Button Lamp Button
_Door f;\ﬂiffftf, N IR B B
Front ‘ —1 | — i
X | o e - - I_ ]
:; | TE_‘JL >< Power Supply inside Control Box
®©
= | 1Amp IS
S T—T Q
\ Slo Fuse Router ;:E
| Relay © 230v
| Toroid Transf. Rectifier Capacitor/s
} 4_/4‘/_( C_B_@ N — T
L1 yporown =7, | L1 —a L — } |
\
L2 |biack -, L2 ‘ - L2 ‘ —— z‘z Gecko Supply
(or brown) ‘ ‘ \ ‘
L3 MQ'G L3740_)/Q o L3 1.3 Amp ‘ }
(or brown) (300 VA) \
L - N Contactor N L3 |
4-Pole
Disconnect Switch Ontional
Interlock with door ptiona N
(padlockable) Contactor a ‘ 230V
—{oreen & yellow Control box g %‘g ?)\;tzzgfff'g;n;el\;DX
— S ©
—l S \
° L3
380V 3-Phase % L2 N
Dust Collector I
Higher 1060 000 A |11
drawing/s: N First issue | 15-06-07 | A
380V 3-Phase Description of change Date (d-m-y) | Rev.
Spindle VFD Meterl CIRCUIT e 380V THREE-PHASE SUPPLY
(non-AMERICA'S)
230V Cooling Fan OP TION M@ @ﬁﬂ M@ Efg_,@ Drawing Number Process | Revision
under Geckos www.mechmate.com 10 70 380 C A

E-Stops on gantry & y-car

Disconnect switch for bit changes

(LT (—




X-Rails:

Y-Rails:

Finished length will be X+600,
but an extra 360mm is needed for
clamping during the shape milling.

Raw length: X+960 o\

Finished length will be Y+500,
but an extra 360mm is needed for
clamping during the shape milling.

Raw length: Y+860 @

OPTION

When cutting the height of the rail to 28mm, the rail
will curve. This is not serious. However, reduce the

B

distortion by either sawing or using a thin grinding disc.

Max raw height for

skate = 50mm [2"] 1 28mm (1107

6mm (0.25"
r (0.257)

B

60 to 65mm
(2.5")

— =—1mm (0.04")

|
&

VI

The reference faces of the rail (bottom and right-side)
sometimes need to be cleaned with a belt-sander to

remove scale.

Exact dimensions are not critical. It is more important

that dimensions are CONSISTENT within about 0.2mm
[0.01"] over the whole length of a particular rail. ie. that
a rail is parallel.

Higher
drawing/s:

1010246 D |12

Raised height from 24 to 28mm

07-10-07 | B

10 20 246 D A Added for grinding skate limitations

27-06-08 | C

Description of change

Date (d-m-y) | Rev.

Material: ANGLE IRON/STEEL

Title

MechMate

www.mechmate.com

STEEL RAILS - CUT & MILLED

Drawing Number

M1 10 110

Process

M

Revision

C




X-Rail bases:

X+600

Y-Rail bases:

Y+500

i

f15mm [0.6

6mm [0.25"] |_
| P

60 to 65mm
[2.57]

The extruded angle must have a fillet radius in the

corner no larger than 0.4mm [0.016"]

OPTION

7

Hgher " 1010247D |12

drawing/s: 10 20 247 D First issue
A\

06-10-07 | A

Description of change

Date (d-m-y) | Rev.

Material: o] UMINIUM (EXTRUDED) | rite

ALUMINIUM RAIL BASES - SAWN

M @ @ h M @ @@ Drawing Number
www.mechmate.com M 1 10 1 20

Process

S

Revision

A




|

E

1O

N\

N
°©
N’

M8 X 20 HEX SET SCREW
(x2)

M8 WASHER (x2)

M118 020 W

12mm PROXIMITY SWITCH (OPTIONAL)

OPTION

Higher 1020000 A |11 Moved proxy to miss V-Cap screws

06-10-07 | B

drawing/s:

10 30 000 A A

First issue

26-11-06 | A

Description of change

Date (d-m-y) | Rev.

Material: ASSEMBLY

MechMate

www.mechmate.com

Title

CAR STOPPER & LIMIT SWITCH ASSY.

Drawing Number

M1 18 000

Process

A

Revision

B




—— 175[0.7"] =40 [1.6] =

17.5[0.7"]

013 [@0.5"]
HOLE FOR 12mm PROXY SWITCH

35[1.4"

Drill 2 holes @6.8mm and tap M8x1.25

thread right through

—7.5[0.3"

7.5[0.3"

Hher  “M118000A |11

drawing/s:

A

First issue

28-06-08 | A

Description of change

Date (d-m-y) | Rev.

Material: \\/E| DED STEEL

MechMate

www.mechmate.com

Title

CAR STOPPER BLOCK - DRILL & TAP

Drawing Number

M1 18 020

Process

D

Revision

A




35 [1.4"

TO BE DRILLED - DO NOT WELD HERE

M118023 S

M118022 S

M118021S

Higher M1 18 020 D

drawing/s:

1:1

Finish welding before drilling

28-06-08 | B

First issue

14-10-06 | A

AN

Description of change

Date (d-m-y) | Rev.

Material: STEEL

MechMate

www.mechmate.com

Title

CAR STOPPER BLOCK -

WELDED

Drawing Number

M1 18 020

Process | Revision

W\ B




150067 |-

75 [3.0"]

Higher M1 18 020 W

drawing/s:

1:1

Changed next higher process

28-06-08 | B

First issue

14-10-06 | A

A

Description of change

Date (d-m-y) | Rev.

Material:  45mm STEEL SQ BAR

MechMate

www.mechmate.com

Title

STOPPER BASE - SAWN

Drawing Number

M1 18 021

Process | Revision

S B




75 3.0 - 25[1.0'—— —6[0.2"

fffffffffffffffffff il _
<
=
-—25[1.0"]—— R
LJ—5 [0.2"]
- T T - - T T (I
| | | |
’12@?5  M118020W |11 Finish notching before welding | 28-06-08 | B
v A First issue | 14-10-06 | A
Description of change Date (d-m-y) | Rev.
Material: 25 x 25 X 6mm ANGLE Title

STOPPER LIP - SAWN & NOTCHED

MechVate
www.mechmate.com M1 1 8 0 2 2 S B




-~ 35[1.4"] ——

AN

7[0.37

HL7 [0.3"]

——| 15[0.6" =

Higher M1 18 020 W

drawing/s:

1:1

First issue

28-06-08 | A

AN

Description of change

Date (d-m-y) | Rev.

Material: 6mm [1/4"] STEEL OFFCUT

MechMate

www.mechmate.com

Title

PROX EXTENSION -

cuTt

Drawing Number

M1 18 023

Process

S

Revision

A




20 [0.8"]

@10 [20.4"]

= 6[0.27 =

These disks are intended as a facility to "adjust” the positions of the target
holes in the rails. The position of the 10mm hole can be determined after
assembly. Some adjustment of the hole position can be done by rotating

the disk as an eccentric.

OPTION

Hgher M118000A |11

drawing/s:

First issue

30-11-06 | A

Description of change

Date (d-m-y) | Rev.

Material:320mm STEEL RND BAR

MechMate

www.mechmate.com

Title

PROXIMITY TARGET - TURNED

Drawing Number

M1 18 027

Process

T

Revision

A




WITH YITONG / HEPCO / BWC size 3 WHEEL WITH V-CAP RAILS ON ALU

OPTION

O] )

4

\

0] —

| THIS DIMENSION IS ADJUSTED TO MAKE
THE CARS RUN SQUARE AND TRUE

k HEX SET SCREW M12 X 45
M12 WASHER
M12 SHIM WASHER/S

THESE ARE THE COMPONENTS
THAT "SQUARE" THE GANTRY!

o> g \¢

HH

POSSIBLY, an M12 "THIN" NUT, if space permits,
OPTION otherwise only washers and shim washers

—M1 20 120 A V-WHEEL (or YITONG / HEPCO / BWC size 3)

M12 NUT (or DOME NUT)
grig%g/s; 1:1 Optional washers/nut/shims | 27-06-08 | B
A First issue | 23-07-06 | A
Description of change Date (d-m-y) | Rev.
Material:  ASSEMBLY Title
V-ROLLER ASSEMBLY

MechVate
www.mechmate.com M1 20 1 00 A B




2x 6001.2RSR Bearings
installed with "Loclite”
(See Forum)

g/fgyv?;g/s: M120100A |71 Compatible to "Size 3" | 23-02-07 | B
A First issue | 23-07-06 | A
Description of change Date (d-m-y) | Rev.
Material:

Title

V-WHEEL

M @ @ ﬁ:D M @ {f@ Drawing Number

www.mechmate.com

M1 20 120

Process

A

Revision

B




. +0.10
11-0.20

|t et |

90T,

hé
6

046
228
|
\
35

——]

=165~

+0.10
8-0. 20

OPTION

THE V-GROOVE MAY REQUIRE
GRINDING AFTER HARDENING

IF THE V-WHEEL DOES NEED
GRINDING, THEN IT IS BEST TO

INSTALL THE BEARINGS FIRST AND

THEN GRIND THE WHOLE ASSEMBLY
ON A MANDREL.

NOTES STILL TO BE ADDED ON THE MATERIAL AND HARDENING

I;riglv-:/%g/s‘ M120120A |11 Interchangeable with "Size 3" rollers | 23-02-07 | B
' A First issue |23-07-06 | A
Description of change Date (d-m-y) | Rev.
Material: HARDENABLE STEEL Title
V-TYRE

MechMate

www.mechmate.com

Drawing Number

M1 20 121

Process | Revision

T B




Drill @8mm
eccentric to bolt center

M12 "High Quality" Bolt with minimum 16 [0.06"] plain shank.

Minimum 16 [0.6"]

L0 [T T

—1.1[0.04"]
—— — M\
- ] >}7’7’7’7’7
Minimum 20 [0.8"]
PN
,,,,, 7 \
fffff A
N

15 [0.6"]

OPTION

1.6 [0.06"] Spacer shim between

f

{ one lathe jaw and 12mm shank

Higher

-
iy

1040000 A

Shorten for "Size 3"

23-02-07 | B

drawing/s:

AN

First issue

10-11-06 | A

Description of change

Date (d-m-y) | Rev.

Materal: 1 2mm BOLT

MechMate

www.mechmate.com

Title

ECCENTRIC BUSH

Drawing Number

Process

M120210 | T

Revision

B




~—11.0[0.43"] =

0.02| A

@16 [0.6"] ——
@8 [0.31"]
Drilled

@20 [0.8"]
As supplied

Higher 1040 000A |21| Compatible to "standard" ecc. bushes | 23-02-07 | B

drawing/s: - ;
é Firstissue | 4-11-06 | A
Description of change Date (d-m-y) | Rev.

Material: 20mm MILD STEEL BAR | rite

BEARING SUPPORT BASE - TURNED

M @ @ ﬁiﬂ M @ {E@ Drawing Number Process | Revision
www.mechmate.com M 1 2 0 2 20 T B




2
o

Description

Qty

M1.30 222 W Stub Axle Plate

6304 2RSR Sealed Ball Bearing

M3 10 100 K Spring

M10 x 35 Hex Set Screw

M10 Washer

40 x 10 x 2 Teflon Washer

M10 Fender Washer

M10 Nylock Nut

QOO IN|[DO|RA LI

M6 x 30 Allen Head Cap Screw

M6 x 25 Allen Head Cap Screw

M6 Nuts

M6 Washers

M8 x 30 CSK Screw (Tip slotted)

20 x 8 x 2 Teflon Washer

M8 Washer

M8 Nylock Nut

PN I N N Y N N N N N N Y e Y Y Y Y

Section C-C

Section A-A

(G2 (2a1
gl 18 ==

Section B-B

=
N

Higher 10 30 000 A

drawing/s:

First issue |07-10-07 | A

Description of change Date (d-m-y) | Rev.

Material: ASSEMBLY

Mechate

www.mechmate.com

Title

HOLD-DOWN IDLER ROLLER - ASSEMBLY

Drawing Number

M1 30 200

Process | Revision

AlA




Do not weld above this line - danger of
interference with mating part

Note: Flatten plate to correct weld distortion.

~

¥M1 30224 T

M5 10 332 P

-
iy

Higher M1 30 200 A

drawing/s:

/AN

First issue

07-10-07 | A

Description of change

Date (d-m-y) | Rev.

Material: STEEL

Title

MechMate

www.mechmate.com

HOLD-DOWN IDLER PLATE - WELDED

Drawing Number

M1 30 222

Process

w

Revision

A




@21 [0.8"]

=~
~
=
= ©20.00 [0.787"]
S PRESS FIT FOR BEARING
—
3001 =
~180.7"]
- 33137 =
Higher = pM1.30 222 W | 11
dranigls A First issue | 07-10-07 | A
Description of change Date (d-m-y) | Rev.

Material: 21mm STEEL SHAFTING | 7ite

HOLD-DOWN IDLER STUB SHAFT

M @ @ ﬁ@ M @ {E@ Drawing Number Process | Revision
M130224T T A




160 [6.3"]

114 [4.5"]

O

SUPPLY THIS DRAWING IN .dxf FORMAT TO THE CNC LASER CUTTING
COMPANY FOR REMAINDER OF DIMENSIONS. THE TWO GIVEN
DIMENSIONS ARE TO CHECK SCALE.

PROFILE TO BE CUT

Higher  ~M130222 W |11

First issue

24-09-07 | A

drawing/s:

Description of change

Date (d-m-y) | Rev.

Material: - Gy [1/4'7 STEEL 300MPa

MechMate

www.mechmate.com

Title

HOLD-DOWN SWINGPLATE - PROFILE CUT

Drawing Number

M1 30 332

Process | Revision

P A




